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Math 101-01 (Kunkle), Exam 2 Name:
150 pts, 75 minutes May 28, 2013

No notes, books, electronic devices, or outside materials of any kind.

Read each problem carefully and simplify your answers. Unless otherwise indicated, sup-
porting work will be required on every problem; one-word answers will not receive full
credit.

Page 1 of 2

1 (9 pts). A wire of length z is bent into a circle. Express the area of the circle as a
function of z.

2 (10 pts). Find the real solutions (if any) of each equation.
a. [2z-3%=1 b. |z —-2|=—4
3. Find the real and complex solutions (if any) of each equation.

a (10 pts). 22 +6x+25=0 b (12 pts). z+2 =+/3z + 10

4. Solve for each inequality. Express your answer using interval notation.
a (9 pts). —2(z—2) <5(z—5)+3 b (9 pts). |4 —3z| < 3.

5 (3 pts). Find the midpoint of the line segment joining the points (2,4) and (1, -9).

6 (3 pts). Find the distance between the points (2,4) and (1, 7).

7 (6 pts). Find an equation of the circle centered at (3,—2) and containing the point
(4’_1)

8 (8 pts). Find the domain of %f_c';%. Express your answer in interval notation.

9 (15 pts). Find an equation of the line described in each part.

a. The line passing through the two points (-1, 3) and (5, 7).

b. The line passing through the point (-1, 3) parallel to the line 2z + 3y = 1.

c. The line passing through the point (—1, 3) perpendicular to the line 2z + 3y = 1.

10 (12 pts). Graph the functions on the axes provided.

c.y={

11 (10 pts). Check the box to indicate whether or not each of the graphs below is that of
a function. For each function, state its domain and range in interval notation.

—3z+1 ifz<-2

L ks z if 7> —2

a. y=2
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a. O not a function. O function; domain =
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b. O not a function. O function; domain = range =
c. Omnot a function. O function; domain = range =
d. 0O not a function. O function; domain = range =

12. This problem is about the function g(z) = 222 — 8¢ + 7 and its graph.
a (10 pts). Write g(z) in the form a(z — h)? + k.

4.2 b (2 pts). Find the coordinates of the vertex of the graph.
c (2 pts). Find the equation of the axis of symmetry of the graph.
43, _—_[d (10 pts). Find the z-intercepts, if any, of the graph.
e (2 pts). Find the y-intercepts, if any, of the graph.
4 /{f (2 pts). Write the range of g(z) in interval form.
)

g (6 pts). Sketch the graph of g(z) on the axes below. Your graph need not be to scale
but should include the features you found in parts a-f.

t" YOU wowt he provide A mhrmpdivG ow YW UKam s



| Avex=TrR Ciromd.= zmr=x = 15 D A=m(AY= sz_ %’_‘

3y L) -
ﬂ'0‘~-l X -3 =1 = 2x-g=2l wil selve gactn of Tuue.
,g(a-xg)—(ls‘éqxs‘zs——ﬁ?x 20 = x= &

& (3x-8)=-1"6 3 gy -~5 =~ =29

26, | %-2| =4 has W0 SoLTIONS. ((abs. wtone cant be ngafive.

x=-0 > K=

sa. Xabx<25=0. Cawt be factwed- Vsc Quodrafic Farmvio-.

E— S t 2. ofe - \ Y
x= =9 Vbzfuzr‘ - 617)/.__ ;é_tﬁ:;:;éfﬂ_tlz-st‘h

2-

AL e agplace G w/ -6 . x= 4340

3b Squams bifh sielo. (xdy = 3xt0 ol =3x 1) P X FRB =2
Q(-\-Sx\cﬂ) 20 =P KR=-3ort2, Charef '~ ""“/“"‘2 —-ﬂiw-hk:
“3ez =l #F Vamps.  2%2° d =\Zze00 VBV x=2is ruly Safotion .
e ST V3Kte . Squera: T -
5 (xrd(v-2D7e P X3 Chacle v~ mgMa
342 u’;’.’i’ﬁe—',dzr v, X?

2k o~
x& 4y -(2 =2

w4z =—2 F V“”ﬂt"“ﬁ'

Jq, -2xr4 Sy casig = GR-2% o A 2y +22 ¢

SO"*S‘/(_ = (%-%', w);
ot 2wt cCy -28-3 =Sx-2% Md ZxtB. 32 <% 2 2 <x,

golwm &b Z ( )



in
| ]
wig
W
*
W
W

4p, l4-3<l223. 2 -2 4-3x =23 -7 < -3¢ £-1{;

L ¢y s % Selodtan sl = ['/5, 7/s].

5*/‘”‘9“( :% /zuz- At mMpT.—.(‘%‘-;-_l‘q

¢ . gt = (EVPR(41F = Vie . 2%t Ast= {?-.)ﬂm-af' = \\T.

7. radivs = dwst (3D (4, = [G-D +(-2+d0° = Yz =r. v*=2,

cree t (X304 (g =2,

wid

3. Furcttm rueds K43z 0 Omd 2¥-20 F0 X2-3 onmel XF(O.

C-2 2OV 10, @),

Dorvnenw =
2x-18¥0 ., [~3,4dv(4q,0).

Al Xxtd>zo Ol

s, L is y-3= 5(x+0)

& Slope = A-DI(5-t0) = 4l >
i ], “tx+y. slope=-73,

b, Hlue et X224 =0 ) 3y =l-2¢ ; 97

2om M ﬁw\"tmts ~1-5=-%(mu)

oyTrom Afhe hoo 8lope = %3, Degined Lira. haa sia?e-f 32,
MNve 3 vy-3 = Z(xt-l)

Ait. o~ 9{‘0‘?{ = (5-DUTI*1) = 2[y = g oS is &,—3:;{;()‘“)
b' ZY*'}\z‘ = M= %){ —'i Mo 9L0]>¢ %. an$ 3—3: .gs-(x,ﬂ)
e Sce 2%-34>( Wy stope §, W%Mm haa

gtuc,._ -32. ams: y-3-= -—%__(7\4-,).



gz {’%x‘“ Xx-2

= 2
(0. Y x X2-2
' ly‘ [ ' ) '
- b e ale -t oaat I I R
' 0 ' ' ' '
R N N PR AN
L} L} 3 Ll ¥
e a —
' ' ' 0
Pt e To ol BB ot
1 ) L} L} 1
-4 -3 -2 -1 1 2 3 ax
_-----r--l.l.ﬂ --l--l---l-_l-—
' ' 0 0 0 1 '
R B A tmDed o <le o b o o o = & =
' 0 1 0 ' ’
TR X2 B R A
' ' ' ' ' .
e b m el mbh == a_‘.---u ..... la = &b =
' ' + +

] --v ] i ] v ] uy 3 '
L----l.--n‘ - ala - PR b ecleabacled e to = -
L] . 1} 1] [ [ 1] 1] 1)
S8 ol S o o o R LEUCRIEE BC 3 80
DO o 15 Jed 5 S8 50 o 5 ;
L] 1] 1] 1]
R ol oL
1] : : 1]
432l 123 a4
|:‘ L] 1
B . S5
1] 1] . 1 L] L] 1]
.......... —q. -« wle o b o ale o b -n.--l--n--u_4-+--u--n.--l--s-
[} 1] L] . L] L] 1} 1] 1]

iHa. Vot afuncHn. b. Fundting; dmwaim = (-0,-1JuL1,00), rovse = (- 00, 20)
c. Nor o fundtne. A Functtw, awome = (-0, ) ,w%g = [1,0)

a_ﬁ’r: a. Fuwr;ffml' clm. = (‘Do,‘l]U[l.w)l ,W = (~00,00) . b . Nat AF'V*\mW
pel -FUFC'HQ\) AOAN = (-0, 00) , WYL = [10), 4. Not-a Fonctron.
1225800 =) -4x + 1 = Fodx «h -t t1 = (x-2)* -4+l
5 A= 2(x-0% —%+7 = 2(x-d
b. vtateg = (&71) = Xx=2,
d. O=z(-)*- = 1=2(x-2 3 L=(x2Y 1L = k2
= Xx= 2t \§



[T =

(2= YT, o) Io(2+,0)

A A, 2900z Wegprd LY 900 (XD -,
b. veatex ls (~2,-0 , ¢ dxis x=-2

4. 6290 => x=-2t\V/2 e. xs0e=2Y=7 4 ransge = (-1, %)



